Subject: Re: Variable stride in array indices
Posted by davidf on Fri, 07 May 1999 07:00:00 GMT

View Forum Message <> Reply to Message

Liam Gumley (Liam.Gumley@ssec.wisc.edu) writes:

> a =lindgen(10,10,10,10,10)

> x = lindgen(5)*2

> help’ ((((a[xa*a*a*a*])[*axa*1*1*])[*a*axa*i*])[*a*a*axi*])[*1*a*1 *!X]
> <Expression> LONG = Arrayl[5, 5, 5, 5, 5]

Thank you. This solves a long-standing problem that | have been
having with DL :-)

Cheers,

David

David Fanning, Ph.D.

Fanning Software Consulting

Phone: 970-221-0438 E-Mail: davidf@dfanning.com

Coyote's Guide to IDL Programming: http://www.dfanning.com/
Toll-Free IDL Book Orders: 1-888-461-0155
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